
Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức bậc hai

3x − 4x − 42 4x + 17x + 152

5x − 3202 2x − 9x + 42

x − 2x − 32 7x − 112x + 4412

8x − 57x − 562 2x + 3x − 22

3x + 20x + 122 7x − 112x + 4412
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Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Tính nhân tử của đa thức bậc hai

3x − 4x − 42

(3x + 2)(x − 2)

4x + 17x + 152

(4x + 5)(x + 3)

5x − 3202

5(x + 8)(x − 8)

2x − 9x + 42

(2x − 1)(x − 4)

x − 2x − 32

(x + 1)(x − 3)

7x − 112x + 4412

7(x − 9)(x − 7)

8x − 57x − 562

(8x + 7)(x − 8)

2x + 3x − 22

(2x − 1)(x + 2)

3x + 20x + 122

(3x + 2)(x + 6)

7x − 112x + 4412

7(x − 7)(x − 9)
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